gmb
i

24.00

8.00

:;Tg
Q O — 9 4.00
O )
Q 3.00 @

bt

—— 6.00 e
@] @]
‘ Q NOTES:
. . 1. MATERIAL OF CONSTRUCTION IS 304 SS UNTREATED.
2. 5/8 BOLT WELDED TO BASEPLATE.
5 UNLESS OTHERWISE SPECIFIED: NAME | DATE | TITLE:

PEDESTAL

DIMENSIONS ARE IN INCHES DRAWN

INSTALLATION
FRACTIONAL+1/32 CHECKED

ANGULAR: +2° PROPRIETARY AND CONFIDENTIAL

TWO PLACE DECIMAL  +0.010

SIZE PART NO. REV

THREE PLACE DECIMAL 0,005 [0 \NFORMATION CORTAIRED s Wednesday, February A
PEDESTALPRO.COM yoecmoune (oo, aomcniron | 26,2025 12:10:03PM - A 186EVAN-01A
1-800-660-3072 TOLERANCING PER: WRITTEN PERMISSION OF PEDESTALPRO LLC

ASME Y14.5 -2009 IS PROHIBITED. WEIGHT: 30.386 NO SCALE SHEET 1 OF 6



PEDESTAL

PRI0

PEDESTALPRO.COM
1-800-660-3072

ITEM NO. PART NUMBER DESCRIPTION QTY.
] 186EVAN-O1A BASE MOUNTING PLATE ]
2 186EVAN-OTA SMALL GUSSET |SMALL GUSSET 2
3 STAINLESS 5/8 WASHER 5/8" SS WASHER 4
STAINLESS 5/8 HEX NUT 5/8-16 SS HEX NUT 4
STAINLESS 5/8 HEX SCREW 5/8-16 X 1.5" SS HHCS 4
186EVAN-0O1A BODY FOUNDATION RISER 1
NOTES:
1. SEE STANDARD PREPARATION AND COATING INSTRUCTIONS
FOR COATING PROCEDURE AND COLOR.
2.  SEE STANDARD PACKAGING INSTRUCTIONS FOR PACKAGING
PROCEDURE.
UNLESS OTHERWISE SPECIFIED: NAME | DATE | T|TLE:
B Es REININCHES | DRAWN ASSEMBLY
FRACTIONAL +1/32 CHECKED
PG SACEDECIMAL 20010 | . T"OFHIETARY AND CONFIDENTIAL SIZE [PART NO REV
c c :-O:OO THkEAIwTORMATION CONTAIIF:IEDINTH\S Wednesdc , Februo .
TGO SO0 G RSO e 26, 2095 121003 PM . I\ 186EVAN-OTA A
INTERPRET GEOMETRIC IN PART OR AS A WHOLE WITHOUT THE
revisypaie o, O OF PEPRTAROLLE eI GHT: 30.386 NO SCALE SHEET 2 OF 6




	INSTALLATION
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	ASSEMBLY
	Drawing View6


